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PART I: ACCESS TO INFORMATION FROM WRITTEN TEXTS
(70 points)

Read the article below and then answer questions 1-7.
ELECTRIC CARS IN PARIS

For years, Paris has been suffering from high levels of air pollution, caused

by the heavy traffic in the city. To help deal with the problem, in 2007 the city

created a system of bikes which people can rent for a small fee. Four years

later, it went even further and introduced a service which offers non-polluting,
s electric cars for rent.

Operated by the Autolib Métropole company, the service is open only to
registered members. However, registration is easy and rental fees are relatively
low. The cars are small but comfortable, and each one has a GPS navigation
system and a phone connection to the Autolib center in case of a problem.
10 Moreover, free parking spaces are reserved for the cars throughout Paris — a
great advantage in a city where parking is difficult to find and very expensive.

Today the Autolib service already has more than 200,000 members, 3,000 cars
and 900 rental stations. Its convenience has made it popular both with people
who own a car and with those who don't. In a recent survey, many car owners

15 reported that they now use their own cars only outside the city, saving most of
the costs of fuel and maintenance. And some members who don't own a car said
they no longer feel they need to buy one.

Despite the popularity of the Autolib service, its use has resulited in a very small
reduction in air pollution. "As long as millions of polluting cars continue to

20 drive through the city, nothing will change," says environmental activist Pierre
Chabrol. The real value of the service, he believes, is simply in having electric
cars on the streets for people to see. "This raises their awareness of the struggle
against pollution," explains Chabrol, "and makes it easier to convince them to
use their cars less often."

25 The Autolib survey, however, showed that pollution is not the members' main
concern: their major complaints were that the cars can only be ordered 30
minutes in advance, and that they are not aiways available when needed. In
response, Autolib intends to add thousands of cars and to set up more rental
stations throughout Paris. Meanwhile, it has also begun operating in other

30 cities. Says Julien Varin, the company's communications director, "This is a
whole new age of transportation." /3 Twya wnn/
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QUESTIONS (70 points)
Answer questions 1-7 in English, according to the article. In questions 1,2
and 5, circle the number of the correct answer. In the other questions, follow

the instructions.

1.

What are we told in lines 1-5 about the car and bike rental services in Paris?
(1)  How effective they are.

(i)  Why they are inexpensive.

(iii) Why they were started.

(iv)  Which one is more successful.

(7 points)
What do we learn from lines 6-11?
(i)  How people can register for the service.
(i)~ What the Autolib company offers its members.
(ii) Why the service is open only to members.
(iv)  What problems are reported to the Autolib center.
(7 points)

According to line 12, the service "already has more than 200,000 members".

Give ONE fact from lines 6-11 that could explain its popularity.
COMPLETE THE SENTENCE.

Members don"t NAVE TO ...ooviiiieeeeeee e e

Why might car owners use the Autolib service? Give ONE reason.
(lines 12-17)

COMPLETE THE ANSWER.

Because using the service

/4 Ty qunn/
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Note: The exam continues on page 6.
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(30 points)
Some of these benefits are more important than others.

ACCESS TO INFORMATION FROM SPOKEN TEXTS

ECOTHERAPY — THE NATURE CURE

Why ecotherapy is better than other treatments.

Which kinds of activities can be used in ecotherapy.
Today there is scientific evidence for these benefits.
These benefits are greater in children than in adults.
These benefits are greater now than in the past.
Different outdoor activities can have these benefits.
These benefits have been studied for centuries.

Which type of ecotherapy is most effective.
What do we learn about the health benefits of being in nature?

(iii)  Which physical problems ecotherapy is used for.
PUT A v BY THE TWO CORRECT ANSWERS.

Answer questions 8-12 according to the broadcast. In questions 8,10 and 12, circle
What are we told in Dr. Brown's first answer?

the number of the correct answer. In the other questions, follow the instructions.

'211072,016481 '0n L2 TN N'ywn 5PN

(5 points for each correct answer.)
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What does Dr. Brown explain about relationships with friends?

How scientists found out about their importance.

Why they can improve our health.

What they can teach us about modern life.

How being outdoors can help improve them.

According to Dr. Brown, why do we no longer feel the calming effect of

nature? Give ONE answer.

What do we learn from Dr. Brown's last answer?

Patients choose their own ecotherapy treatment.

Ecotherapy is becoming more popular.

All ecotherapy patients get the same instructions.

Ecotherapy works best in certain types of natural surroundings.
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